A0 Do Do Do 15}
AL D1 D1 D1 LEDS
A2 D2 D2 D2,
A3 D3 D3 (g D3, E|
A4 s D4 D4 5 D4
AS o D5 D5 = D5 LEDA
A6 D6 D6 D6,
AT D7 D7 D7
A8 EN LE.DS
A9 DBusL
Adressen: 000...3FF 0000...1023 d
2 LE.DS
HEX oo A0 Do Do Do
= o AL D1 D1 D1
HE | A2 D2 D2 D2
D3 A3 D3 D3 " D3,
HI3 A4 s D4 D4 a D4 (¢}
2l 8 D5 ps| © D5 Q
A6 D6 D6 D6
A7 7 7 7
A8 EN LE.m
A9 DBus2
Adressen: 400...7FF 1024...2047 d
@
A0 DO, Do Do | Leo7
AL D1, D1 D1
a2 D: D2 D2
ey A3 D3 D3 " D3
DO A4 s D4, D4 a D4
= oo AS 2 DS, D5 = D5
uE | 26! D6, D6 D6,
D3 A7 D7, D7 D7, 1)
HI2 A8 EN LEDS
A9 DBus3
Adressen: 800...BFF 2048...3071 d
A0 Do Do Do
AL D1 D1 D1
A2 D2 D2 D2
A3 D3 D3 " D3
.V = D4 D4 a D4,
AS e D5 D5 a D5
L6 D6 D6 D6
. Hier ist der Adressbus - o - -
DO A8 EN
F D1 A9 DBus4 H 1
ier ist der Datenbus
- Adressen: C00...FFB072...4095 d
HIL

—

—

Adress-Decoder

(Binér zu 1-aus-4 Decoder)
zur Adressraum-Erweiterung

AND3




